PEREBR A% EREETH
(32 p# : 101287 1p -112£127 31p)
pe | werpy | st [ e2(>7) | YL [ At
ERBHEE bt
1 110/07/12 i B 1,000.0 - § f £1329ppm
2 112/01/14 B (e B 32) 1,920.0 - § i~ £:3102ppm| i A4
3 112/02/03 (B 2) 2,400.0 - § i* £23316ppm
23 B ir 0 253200 7 0 Fo § it AARtE 0 ¢ 9B AR o
A e A X
1 106/12/23 .- 2,400.0 S F R ARISOmPM)
2 108/01/12 LFE(CTAF) 1,600.0 - § i £2200ppm
P2+t 0 4,000 7 0 FlZ F gt 2 FEAHE o
BB ARSI DY
1 106/02/27 s 1,978.2 4£1.5ppm
2 106/03/22 s 1,000.0 4£1.2ppm
3 106/03/27 g 1,020.0 4£1.3ppm
4 106/06/27 W) ) 1,677.5 4£1.2ppm
5 106/07/11 Nl R 2,013.0 4.1.2ppm
6 106/11/05 g 3,890.0 4£1.6ppm
7 106/12/18 i 2,940.0 4.1.2ppm
8 106/12/23 "y 3,985.0 4£1.3ppm
9 107/02/02 S 3,000.0 4£1.1ppm
10 | 107/04/12 ks 3,000.0 4.1.12ppm
11 | 107/07/18 ks 11,920.0 4£1.3ppm
12 | 107/07/18 K 4,078.8 4 14ppm| IE L
13 | 107/11/18 y 2,335.8 4 1.1ppm
14 | 108/04/03 IS 4,500.0 4.1.7ppm
15 | 108/04/23 "y 5178.3 4.1.2ppm
16 | 108/06/05 IS 5,400.0 4.1.2ppm
17 | 109/06/27 "y 500.0 - § i £:2139ppm
18 | 109/11/27 ks 2,981.0 4£1.4ppm
19 110/05/20 vy 2,400.0 4%3.1ppm ~ £-7.9ppm
20 | 110/07/10 "y 1,728.0 4£1.6ppm
21 | 110/08/19 "y 10,350.0 4£1.3ppm
22 | 110/09/03 "y 1,794.0 4£1.3ppm
23 | 110/12/02 "y 1,528.0 4£.3.9ppm
PR3 ET > 279,198 7 0 FlZ § it EiA & AR ¢ EAHE o
BHEAHKSIE D 2RURE%)
1 106/02/21 4 gh 700.0 - § i £:2830ppm
2 106/02/27 ERS 631.6 - § f“ £2461ppm
3 106/04/05 2ok (s ) 1,724.8 - § i £:1330ppm
4 106/04/24 ER I EY)) 950.0 - § i £2523ppm
5 107/01/06 e 550.8 = § AT503PM| e
6 107/02/28 R EL W 552.0 - § i £2486ppm
7 107/05/15 B 2,773.0 - § i+ £:2050ppm
8 107/11/03 e 560.0 4£.2.2ppm
9 108/10/06 L (IR R R) 80.0 - § it £23704ppm
10 | 110/05/07 Epey 624.0 4:3.6ppm ~ 4:7.4ppm




B | ecpy | f & g | #8(>7) | 3 LR T | s
3104+ % (2% ) > 29,1462 7 > FlZ § ibﬁéif% I ¢ RENHE
WH ARSI DA% (BE%)
1 110/8/24 QT 535.0| 4-21.2ppm ~ = % {* £:192ppm 19F A A
T d o (RAsE) > X535 7 5 F-§ Ami F A RAE 2 TEAHE
ERa%kSIE LY
1 106/03/03 L3 3,000.0 3 1t %£:2890ppm
2 106/03/26 4 3,560.0 3 1 F22320ppm
3 106/05/23 L3 3,836.5 — F i £:342ppm
4 106/07/08 LE(EEH) 6,400.0 Z % i* £:200ppm
5 107/07/03 L3 3,000.0 Z ¥ 1 Fx238ppm
6 108/01/08 4 3,780.0 Z % 1 £167ppm
7 108/12/08 L (22) 2,996.0 - § i £2602ppm
8 | 108/12/17 L3 (221) 100.0 - § aisdppm| SEEAE
9 109/03/11 LG (XY R) 795.0 - § i £2195ppm
10 110/01/10 L3 1,284.7 = % it £:180ppm
11 110/05/19 L3 293.8 = 3 i 521232ppm
12 111/04/23 g 510.0 = % it £:504ppm
13 111/05/10 L3 8,820.0 = § it £2164ppm
14 112/12/16 e 32,741.0 - § 1 £2176ppm
PP L 5 XTLAITE T > FZ F EARE o ¢ iEA MR
R A% Y Y
1 106/03/11 H3(4 5 %) 6,392.7 - § i £2696ppm
2 106/04/03 e 864.0 - § f~ £:1440ppm
3 108/01/22 HE3(H x5 2,750.0 = % i £:192ppm
4 108/05/11 HE(HF ) 2,670.0 - § i £2790ppm
5 108/09/07 HE(H IR 2,577.6 - § 1 £2217ppm
6 108/09/17 H i 1,068.0 - § i £2202ppm
7 109/02/19 3 70.0 = § i £1674ppm
8 109/04/09 Hxw 2,100.0 - § i £n448ppm
9 109/05/23 H i 4,000.0 4£0.5ppm
10 109/05/21 H i 2,600.0 - §  721619ppm|  iRiE & A
11 109/06/06 H ¥ 2,100.0 = 3 1 g176ppm
12 109/11/15 45 (54 %) 2,592.0 - § 1 £:162ppm
13 110/01/29 H ¥ 3,295.2 = % i+ 5:1067ppm
14 110/02/09 e 2,730.0 § - £:1749ppm
15 110/04/17 H 4,512.0 - § i £:558ppm
16 110/05/24 H ¥ 600.0 Z ¥ 1 Fx223ppm
17 110/09/10 H ¥ 900.0 = % i £:890ppm
18 110/12/06 H I (%H ) 1,512.0 - § i £2220ppm
19 112/10/22 H 1,991.5 - § i £2255ppm
RO H X > 1453260 7 0 Flo F tgnd € £ HATHR ¢ FE AR -
WHAKSE 0
106/02/25 6 1,230.0 = § it £2630ppm
106/03/03 5ok 1,730.0 = § - F2749ppm
107/02/02 §oA (M ) 1,080.0 - § 1 £:1390ppm




pg| ecny X £E( ) 3 £t 5] Ak 17
4 107/02/10 TR 1,110.0 - § i £2688ppm
5 107/01/06 G & 867.0 - §  £21240ppm
6 107/01/10 R 1,091.8 5 ERATIOM| e
7 107/02/08 G A 870.0 - § f £2624ppm
8 107/02/10 G 1,230.0 - § i £2442ppm
9 109/05/03 G A 1,022.0 - § f £2634ppm
10 | 111/03/27 5 & 1,623.6 - § i 72544ppm
11 | 112/03/24 G A 2,336.0 - § - £2447ppm
12 | 112/07/11 § ok (6 A ) 1,230.0 - § - £2832ppm

124 n > £154202 7 0 FZ F i pRAgE 0 ¢ iTE AR
SREHEA v B
1 106/02/21 G5 3,600.0 - § f“ F2462ppm
2 106/03/15 5 H(5 5 ) 1,698.0 - § 1 £5787ppm
3 106/07/02 §OE(6 i) 2,170.0 - § i £21830ppm
4 106/12/11 G 366.8 - § f £:1030ppm
5 106/12/10 G 1,740.4 - § f“ F2464ppm
6 107/01/20 5 H(5 T H) 1,101.6 - § {* £2635ppm
7 107/03/24 6o 4,320.0 - § 1 £51489ppm
8 107/04/24 G 250.0 - § 1 £5762ppm
9 107/05/12 o 582.8 4£.0.6ppm
10 | 108/04/03 5 H(6 5 #) 436.4 4.1.7ppm
11 | 109/02/27 G 140.0 - § - £:559ppm
12 | 109/05/05 6o 1000 - § i £2473ppm
13 | 109/11/22 G 1,008.0 - § i £2482ppm
14 | 110/01/15 i 1,309.0 - § 1 £:526ppm
15 | 110/11/29 G 2,100.0 - § F410ppm|  iTE A HE
16 | 111/01/05 i 3,000.0 - § 1 £:964ppm
17 | 111/01/19 G 494.0 - § 1 £21509ppm
18 | 111/02/28 i 1,751.3 - § £:1071ppm
19 | 111/03/10 G 5,016.0 = § it £:896ppm
20 | 111/03/11 i 3,546.0 - § 1 £:688ppm
21 | 111/03/27 G 2,925.0 = § i £2454ppm
22 | 112/01/02 i 985.0 - § - F2412ppm
23 | 112/01/06 G 2,447.0 - §  £:561ppm
24 | 112/03/03 o 330.0 - § f £2448ppm
25 | 112/03/08 G 252.0 - § i £2601ppm
26 | 112/04/09 5 OH(6 i) 10,700.0 - § 1 £:617ppm
27 | 112/04/27 5 H(6 i) 12,000.0 - § { ££505ppm
28 | 112/06/30 o 10,000.0 - § f £2493ppm
29 | 112/09/02 G 2,010.0 - § i £2508ppm
S0Py H 0 ETT2790 T 0 Flo § LA E £ BACHE 0 ¢ 1TE A -
L e S T
1 106/07/12 0 1,518.0 868N s
2 106/11/07 o 2,515.0 4:16.9ppm

P24 W o £40330 7 0 FlE £ HARRE o L REAHE -




A | ecpw | Feef | £8(0 1) AT i
WH A% ST EE KA
1 106/03/23 K 1,000.0 - § i~ £:176ppm
2 106/12/30 p:‘;’ 1,500.0 = § i 5:236ppm i A
3 107/01/06 KEE Y 1,445.5 = § i £1187ppm
4 111/06/08 A 1,134.0 = § i 5=d44ppm
AL T S KA > £5,0802 7 0 Flo F L pRAgHR 0 2 TE AR -
ERA%KSIE F S
1 106/03/05 35 512.0 = § i £:1560ppm
2 106/06/24 FE(F ) 170.0 = § i 5:488ppm
3 106/12/23 5 400.0 = § i £:1540ppm
4 107/11/03 35 710.0 = § i £:1060ppm
5 108/01/12 F5(CLETY) 350.0 = § * £:1650ppm
6 108/06/07 35 680.0 = § Y £R293ppm| 1T A4
7 110/04/17 35 4,000.0 = § i £1187ppm
8 111/05/31 F 501 % %) 2,250.0 = § i 5:248ppm
9 111/06/02 35 756.2 = § i* £:1420ppm
10 112/01/01 35 2,808.0 = § i+ 5:183ppm
11 112/06/26 FEEF ) 1,110.0 = § i £:1172ppm
AL F 5> 2137460 7 0 F]Z F OLERATHE 0 ¢ i A A o
BB AKREE F T e
1 102/01/22 ¥ ¥ 2,630.0 A E £ A28 10ppm
2 102/03/11 ¥ ¥ 2,659.8 # ¢ 4 4z 8 10ppm i A
3 106/07/02 3 ¥ 2,214.6| 450.7ppm ~ = F i £:2780ppm
4 110/04/11 ok 3,890.0 - § i* £:230ppm
AP F E o F L X113040 7 > FloF LA E £ R AR ¢ IEAHE o
W8 A% &N
1 106/07/19 % FC & 6F) 15,012.0 = § it £22500ppm
2 106/12/19 ¥ () ) 1,175.0 = § i 572520ppm
3 107/01/24 ¥ 2,400.0 - § i £:831ppm
4 107/01/24 ¥ 3,150.0 - § i £:586ppm
5 107/05/09 ¥ i 2,777.6 = § i*£2997ppm
6 107/07/05 ¥ iF 2,945.0 = § it £21420ppm
7 107/10/02 ¥ i 50.0 = § it £21860ppm
8 107/10/28 ¥R 7,350.0 - § i £:525ppm
9 107/11/10 ¥ i 480.0 = § it %:514ppm
10 107/12/06 ¥ iF 3,480.0 - § 1 £2990ppm
11 108/01/03 G 9,690.0 = § it %:570ppm
12 108/01/09 S G FAL) 1,950.0 = § v gu781lppm| 1 S 4R
13 108/01/24 G FS) 100.0 = § it £1909ppm
14 108/04/02 ¥ iF 12,582.0 = § i* £:1230ppm
15 108/04/16 | & (% ) i 5) 2,592.6 = § it £:839ppm
16 108/06/07 ¥ iF 780.0 - § it £:984ppm
17 108/11/2 ¥ i 10,000.0 ; it £24327ppm
18 109/05/30 ¥ iF 558.0 = § i £:4854ppm
19 111/01/26 ¥ 3,270.0 = § i z446ppm
20 111/07/21 % () 3,676.8 = % 1 £:2089ppm
21 112/03/26 ¥ i 600.0 = § i 5:502ppm
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22 | 112/03/26 T 300.0 - § i~ £:2333ppm
23 | 112/05/25 ¥ s 150.0 - § {* £2576ppm
F2334 § §F 0 £ 850692 7 0 Fl- § I 1 A

FHR ARSI R

1 107/04/21 GRS 972.0 - § 1t £169ppm
2 107/05/11 s 2 2,087.0 4%.2.2ppm
3 108/04/10 i 4 286.0 - § i z21510ppm|  iTiE &4k
4 109/03/20 e 2,234.0 - % * £:188ppm
5 112/10/14 i 2 5,000.0 - § 1t £2235ppm
LEpL s 5 2105792 7 FCmE g At 0 ¢ IE A o
B AKSIE R
1 107/10/03 9,165.0 - § 1t £2324ppm
2 110/02/02 60.0 45.2.10ppm =
3 110/10/16 1,030.0 &;5.6ggm S
4 112/03/18 660.0 = § i £:349ppm
AR 0 & T ERpATHE > ¢ REA M -
EB ARSI P
1 108/12/07 BE LR 8,256.0 45126ppm
2 110/03/25 2,000.0 - § 1t £196ppm A
3 112/09/05 3,030.0 4°5.9ppm
L3y E N A ¢ TEAAHE o
za:*169#=x§iiﬁﬁer‘ ¥4 x4 FirrmstE Bl s FELNHK -




